EE223 Collaborative Problem Solutions Lecture 1

1. Find the derivatives of the following functions:
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2. Find the integrals of the following functions:
kS
a. v(t)=[ 6dt - 64| -
4
N

b. q(t) = fot 9t2 + 7dr
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e. w(t) = f_toop(r) drif p(t) =t fort > 0and w(0) = 2. Only solve for t > 0.
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3. Findq(t) = [*_i(t)defort = 0ifq(0) = 2andi(t) = °

+
teagon | 10) t | [ f, WdT + 44,
og+< 1 | at o] a [{latdc+d = 742
2

_ ++2  ott<

I¢t< & A N ERth S'+gd2+'$=9+”/_ ﬁ“): at+| : 154<2
2 -+ bt-3 ai44¢3

2¢t<3(-at [ 3 2N (P agyaces = bt ¢ 423
123 | o [ 3T (o6 - ¢ /\L

Electrical & Computer Engineering, Virginia Military Institute COL Squire



